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NO. 2 (NO. 1+9.6)
GH=

Fh=

1 i X

2 #l 0.79
® + 0.20
BAEY 0.54
# R 0.50
TH=17. 208
RL=30.00
T
DL=10. 00
NO. 1 (NO. 1+5.5)
6=
FH=
il 0.75
2%+ 0.04
ER1E Y 0. 64
2R 0. 60
TH=17.396

RL=24. 668

DL=10. 00

TH=17.396
RL=24. 668

DL=10. 00

i Al 0.80
®+ 0.04
FRAE Y 0.64
2R 0. 60

S=1
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NO. 5 (NO. 4+7.3~NO. 4+13.0)
(NO. 4+13. 7~NO. 5+7.1)

GH=
Fit=

i Al 0.77
®+ 0.58
ER{E Y 0.42
2R 0.38

TH=17. 065
RL=35.00

DL=10. 00

NO. 4 (NO. 4+6.3)
GH=

FH=

i Al 0.79
®+ 0.40
BR{E Y 0.52
2R 0.48

TH=17.183
RL=40.00

DL=10. 00

NO. 3
GH=
Fh=
15 0.79
2+ 0.50
RiEY 0.47
# R 0.43

TH=17.107
RL=35.00

DL=10. 00
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